TN11510X - KN11510X

SPECIFIC ENGINE GUARD
N° Description Features Code Quantity
Engine Guard
1151TNDXS
1 - 1151TNSXS 2 {0ty
Support higher
GL3086DX
2 - GL30865X 2D
8 S0 - GL3166S 1
Lower support
4 - GL3090S 1
5 SIS - GNB1528S 1
Screw
6 TE M8x100 8100TE 2
Screw
7 TCEX M8x25 825TCEX 2
Screw
TE M10x70
8 PASSO 1,25 1070TES 1
Screw
TE M10x80
9 PASSO 125 1080TES 1
10 e Iz 22 10220TES 1
PASSO 1,25
Screw
11 TCEX M8x20 820TCEX 2
Screw
12 TBEIFH M8x30 830TBEIFH 2
Split washer
13 - 71060 10



TN11510X - KN11510X

SPECIFIC ENGINE GUARD

HONDA CRF1000L AFRICA TWIN DCT (201 6/17)

5mm - 6 mm

Ay

4

//\, 13mm - 17 mm

0 10 20 30 40 50 6 70 80 90 100

I ......... T e Lot Lot Lo | Lot Lot Lot I (mm)

)




TN11510X - KN11510X

SPECIFIC ENGINE GUARD

HONDA CRF1000L AFRICA TWIN DCT (2016/17)

]

DDDVINIINPININNIDINIINIINININININIININIID

i~

N—

{

J
()
N




TN11510X - KN11510X

SPECIFIC ENGINE GUARD

HONDA CRF1000L AFRICA TWIN DCT (2016/17)

RIGHT SIDE

- REMOVE EXHAUST

LEFT SIDE

- REINSTALL EXHAUST




TN11510X - KN11510X

SPECIFIC ENGINE GUARD

HONDA CRF1000L AFRICA TWIN DCT (2016/17)

LEFT SIDE

LEFT SIDE




TN11510X - KN11510X

SPECIFIC ENGINE GUARD

HONDA CRF1000L AFRICA TWIN DCT (2016/17)

RIGHT SIDE

RIGHT SIDE




TN11510X - KN11510X

SPECIFIC ENGINE GUARD

HONDA CRF1000L AFRICA TWIN DCT (2016/17)

RIGHT SIDE

RIGHT SIDE

Looking for dependable motorcycle guards and protection? Rely on Givi for quality and long-lasting products.



https://www.motorcycleid.com/guards-protection.html
https://www.motorcycleid.com/givi/



